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The linear function that is maximized or minimized in an LPP, is known as

a. Objective function b. Inequality funetion -
¢. Equality function d. None of the above

In all the constraints of an LPP are satisfied.

a. Infeasible region b. Feasible region

c. Either (a) or (b) d. Neither (a) nor (b)

Which of the following distribution is true for symmetric distribution?

a. mean=median=mode b. mean > median > mode

¢. mean < median < mode d. mean = median = mode

The best relative measure of dispersion is
a. standard dewiation b. variance =
c. coefficient of variation d. none of the above

In a certain distribution, mode = 24, mean = 25.5, the median is

a. 25 b: 255
c. 26 d. 265
and are not effected by the extreme values.
a. mean and mode b. median and mode
¢. mean and median d. none of the above

In a certain distribution, CV = 25%, the mean is 60, the standard deviation is
a. 125 D375
a5 d. 525

Which of the following statement is true for the determination of trend by using least
squares method?

a. Trend values can be determined for b. Trend values cannot be determined for
each period each period

¢. Itis free from subjective error d. Both (a) and ()

Paasche’s index possesses

a. upward bias b. downward bias

¢. no bias d. None of the above

If rxy = 0, the variables X and Y are

a. linearly related b. independent

¢. not linearly related d. notindependent

The product of the two regression coefficients is

a <1 b o<

Crae] a1

o index number is an ideal index number.

a. Laspeyre's b. Paasche’s

¢. Fisher's d. None of the above

21 USTM/COE/R-01



Time : 2 Hr. 30 Mins. ~
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[ Degcriptive]
ki Marks : 50

[ Answer question no,1 & any four (4) from the rest]

Calculate mean, median, mode, standard deviation and coefficient of 10
variation of the following distribution:
Age in years (less than): 102030 4050 6070 80

Number of persons 13 3] 1520 2395826
Write in brief the importance of Statistics in managerial decision 10
making. -
a) Why is standard deviation considered as the best measure of 4+6=10
dispersion?
b) Which of the following distribution is more skewed? Justify.
(i) Mean =22 median = 24 standard deviation = 10
(ii) Mean =23 median = 25 standard deviation =12
a) Explain Time Reversal Test (TRT) and Factor Reversal Test (FRT). 4+6=10

b) Fita straight line trend of the following data and estimate sales for
the vear 2018

Year $2011 2012°S=20] 3 2011 2015 2016 2017

Sales: 1012 15 20 18 19 22

(in crores )

If the heights of 500 students are normally distributed with mean 68.0 3+3+4=10

inches and standard deviation 3.0 inches, how many students have

height

(i) Greater than 72 inches

(ii) lLess than 64 inches

(iii) Between 65 and 71 inches
[Given Z =1.00 1238 -
A=0.8413 0.9082]

a) Explain multiple regression with three variables. 5+5=10
b) The following data are about sales and advertising expenditure of a

firm

Sales Advertising expenditure

(R in crore)(X in crore)

Mean 35 8

Standard deviation 13 2

Coefficient of correlation is r = 0.85
(i) Estimate the likely sales for a proposed advertisement expenditure

of *12 crores
(i) What would be the advertising expenditure if the firm fixes a sales
target of 50 crores.
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